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WUg - { / SECTION - A

TS WeT / Objective Type Questions
wr Fo 14 80 7 awgfres e &1 g @ et 40w FT I I
wiF Wt & wrer v Py fro my & Rt @ 0 @ 2 g BT A m
el frweq #t OMR ¥ av Fafera w1 40 x 1 = 40

ions. Ea
Question Nos. 1 to 80 are of objective type. Answer any 40 questio ch
question has four options out of which only one is correct. You have to

mark your selected option on the OMR sheet. 40 x 1 =40

1. ®i%E gl 10 cm ¥ gae gdv U IR EYA e g Afe 9% 3

HAHE 8

(A) 10 cm A U= (B) 20 cm 8 FHiU=+
o

(C) 10cm¥ %A (D) 38 @ +13 TE

The magnification produced by a concave mirror of focal length

10 cm is positive, if the value of object distance is

(A) more than 10 cm (B) more than 20 cm

r

(C) less than 10 cm (D) none of these
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wred 8 Y9 ) I N W Iqad gdu § aads w1 o

K/ﬁ'tﬂﬁ (B wem?d

3R TEA 8 (D) % @ H$ T

On moving from focus towards the pole, the magnification in a

concave mirror

(A) increases (B) decreases
(C) remains constant (D) none of these
v faga w93 fra Fat Y faga o9t § wiafe =@ R 2
(a) TR S B

\9/ ffea et (D) o Sl

Which energy does a hydro-electric power plant convert into

electric energy ?
(A) Nuclear energy (B) Solar energy

(C) Potential energy (D) Thermal energy

aft ) TR N & JHAER Heoit el gadm A= o ooff TR = @ R
W geeht 4 M fage wu A R 3 A dfomm & @ ahed

L B
(A) TH-<ur (B) 3w

C) D)
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is | i etic fi
A rectangular coil of a copper wire 18 rotated in a magn elq

) . - after
The direction of the induced current in the coil changes

(A) every one-fourth rotation
(B) every half rotation
(C) every one rotation

(D) every two rotations

@ma&m%maamwﬁﬁmuﬁﬁﬁm%wwm
w1 21 1A & afa i fan 2

(A)  ErHE @ T F h A (B)  HIHE & Y B AN

(C) %3 8 wrHE A 3N (D) ¥ @ w7

The image of an ant in a concave mirror is erect and goes o
increasing as the ant moves along the principal axis. The directios

of motion of the ant is

(A) from focus to centre of curvature
(B) from focus to pole

(C) from pole to focus

(D) none of these

[ H/S-24(M)/72042-(77/80))| Page 6 of 4




6. @ & v0 % 3w fren A Frifim wh & o
() 3fe T (B) it
(C) gach (D)  wesmft wigdfwd
The radius of curvature of the len% of an eye is controlled by
(A} retina (B) iris
(C}. pupil (D) ciliary muscles
7. %9 WIGEl &1 U1 3961 i 21 @ 2
(A) TEAA % HRI (B) Wil % Hrw
(C) TERIE ¥ HRO (D) UEdT F HRW
Why is the colour of some clouds white ?
(A) Due to reflection (B) Due to scattering
(C) E.‘:uc to absorption (D) Due to refraction
8. ufedy &1 SI 7 Al g
(a) YRR (B)
9/ 3 (D) TR
The SI unit of resistance is
(A) ampere (B) watt
(C) ohm (D) volt
H/S-24(M)/72042-(77/80) Page 7 of 40



10.

11.

3N 9a %1 JEET @l B

(A)  ATP (B) CFC

(C) NADP (D) DDT

Depletion of ozone layer is due to

(A)  ATP (B) CFC

(C) NADP (D) DDT
S [ N S —— T T
(A)  wTSHIEEm (B)  swHAAT

(C)  riar (D) =

In which of the following organisms does asexual reproducti

occur through budding ?

(A)  Plasmodium (B) Leishmania
(C)  Amoeba (D) Yeast

1Sy BTHIA T TH IR B

(A) 1AA (B) TSH

(C) ACH (D) ACTH

An example of plant hormone is
(A)  1AA (B) TSH

(C) ACH (D) ACTH

H/S-24(M)/72042-(17/80
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13.

14.

[212)
e H HIAH v g 8
@/33 [ - B =g
(C) & gl (D) o g
Vegetative propagation in potato takes place by
(A)  root (B) seed
(C) fruit (D)  stem
grsfger v ST @
a) @A B) T H
€ TEW (D) wHawh
Hydrilla is found |
(A) in water (B) in soil
(C) on tree (D) all of these
@y fe %1 R Tt g 8 |
(A) 140 mm Hg | ' : [W mm Hg
(C}) 100 mm Hg (D) 80 mm Hg

Systolic blood pressure of a healthy person is
(A) 140 mm Hg (B) 120 mm Hg

(C) 100 mm Hg (D) 80 mm Hg

H/S-24(M)/72042-(717/80) Page 9 of 40



15, Fvafeh e w IaE
o -
(C) woch (D) wHh
An example of bisexual organism is
(A) Hydra (B) Man
(C) Fish (D) Goat
16. Woelt ¥ @87 gar &
(A) g g @/ fireg 2T
(© "= (D) FwE g
In fish, respiration takes place through
(A)  mouth (B) gills
(€] nose (D) lungs

17.  f¥diar-gar (kWh) o 2

(A)  FAl &1 (B) 49g &
(C) z&mH & E_D)/ wifts @
Kilowatt-hour (kWh) is the unit of

(A)  energy (B) time
(C) mass (D) power

i H/S-24[M]/72042—mn01 |

Page 10 o



212

18. WA 1 @ F VAN F T www K wen R Prifva B o 2

(A) U™ A g B Teh g

() I TR (D) gRaRE TR

The amount of light entering in human eye is controlled by

(A) ciliary muscles (B) pupil
(C) cornea (D) iris

19. ®WA-H1 WIWE Al §a & ?
(A) TR =it | (B) @y Hwit @xa
(€ dFAm (AEmwm) (D) AP A

Which is the conventional source of energy ?

(A) Nuclear energy source (B) Geo-thermal energy source

(C) Biomass (D) None of these
20. Mﬁﬁsﬁﬁﬁﬁmd@ﬁﬁ%

| (A) 4n? (B) 3n?
€ 2n° D) n?
The maximum number of electrons in a shell is
A) 4n? B) 3n?
(C) 2n? (D) n?

Page 11 of
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21, FH-u weerEE gad aww M R 2
(A) R (B) S

() =g D) A
Which hydrocarbon is the simplest compound ?

(A) Methane (B) Propane

(C) Butane . (D) Ethane

22. fra § A fem uig 1 oS TEE W R ?
(A) Na (B) Cu
(C) Fe (D) Al
Which of the following metals has the lowest melting point ?
(A) Na (B) Cu
(C) Fe (D) Al
23.  HH1 & W we d
(A) 23 | {31/13 -
€ 79 (D) 80
The atomic number of gold is
(A) 23 (B) 43

@ : (D) 80

I H/S-24(M)/72042—m'1w1| Page 12
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25.

26.

(212
frfefaa 4 )7 o@u @ »
(a) HCl (B) NH,OH
(C) NaOH (D)  K,80,

Which of the following is a salt ?

(A) HCI (B) NH,OH

(C) NaOH | (D)  K,SO,

Pyl F AT Wl A S F LW g 9 F w9 7 s s @
(A) TS (B) TSAIES

W | D) forerw

The expulsion of water through stomata in the form of vapour from

the aerial part of the plant is known as

(A)  osmosis (B) transpiration
(C) excretion (D) diffusion

a1 ITHIET 2

(A)  wH 9 T H @) fdfm o =
@/ et et T (D) T A HE T

The tiger is a consumer of

(A) first trophic level (B) second trophic level

(C) third trophic level (D) none of these

H/S-24(M)/72042-(77/80l Page 13 of 40




27.

28.

29.

qr 1 I T R

(a),/ @ ®
(c) R @)
The place of origin of human is
(A) India (B) China
(C) Africa (D) America
Farpe nfa O A
@) Her | B) e
(C) Ir=Ted | (D) o afa
Peristalsis movement is found in
(A) Colon (B) Oesophagus
(C}  Pancreas (D) Small intestine
g 9fEEq a3 9 o @
(A) HERH @/ fyeef &
©) wFad @ fgd

Open circulatory system is found in
(A) pigeon (B) butterfly

(C) man (D) cat

i H/S-24{M)/?2042-twnml Page 14 ¢




30.

31.

32.

[212]
@ 0 AR 1 g R
(A) o (B) il
© ity (D) e
The carrier of oxygen in blood is
(A) fat (B) hormone
(C)} haemoglobin (D) carbohydrate
qa 4 HiZEm i SifEt 6 ven B 2
(A) 24 (B 23
C 11 (D) 22

The number of pairs of autosomes in human is

(A) 24 (B) 23
€ 11 (D) 22
ma’v@w%ﬁmgw—mﬁa@mmmha
w/ QI (B) en

(C) den (D) &0

The most effective

photosynthesis is

(A) red (B) blue

(C) yellow (D)  green

colour of visible light spectrum for

H/S-24(M)/72042-(77/30) Page 15 of 40



33.

34.

3S5.

aﬁﬁm%m%%a\ﬂaﬁﬁflw@?ﬂﬂ
(A) wEA (B) ﬁ‘rﬂ
©) (A 3 (B) 3 D) FTHA ¢ TEl

iodic table is
The valency of all elements in a group of the periodic

(A) same (B) different

(C) both (A) and (B) (D) none of these

Ay 8 ¥ TOE & &9 § I e R 2

(A) @Al (B) B

(c) Rt (D) AYNgH A
Which of the following is used as wine ?

(A) Ethanol (B) Methanol

(C) Vinegar (D) Methanoic acid

anad greft & gfia o 3§ acl H gen et R 2
A 18 (B) 12
(C) 10 D) 8

What is the number of elements in the third group of the period
table ?

A 18 (B) 12

(C) 10 -

[H/S-24(M); 72042-(??1:011 Page 16 of




36.

37.

38.

ma?ﬁﬁmwmma? o
() RFrm B)

() fuferws (D) =R

Which is used in Solar cel] ?

(A)  Uranium (B) Plastic

(C) Silicon (D) Plutonium

T a1 TR B 2, 8, 7 81 59 e 6 g den w2 d 2

(A) 10 (B) 11 |

(C)/ 17 (D) 19

The electronic conﬁgﬁration of an element is 2, 8, 7. What is the

atomic number of the element ?

(A) 10 B 11
C 17 (D) 19
Uahe e utg %1 fimarg 8 2

(A) Fe B) Sn
© Al | (D) Cu

Duralumin is an alloy of which metal ?

(A) Fe (B) Sn

() Al (D) Cu

H/S-24(M)/72042-(17/80) Page 17 of 40




39.

40.

41.

<feam wiaRe @ T g 2

W Na,;POy4
(A) NaPO,

(D) Na,PO4

(C) Na,(PO4)3 |

i s
The molecular formula of sodium phosphate !
(A) NaPO, B) NazPO4

PO

(€) Na,(PO,)3 (D) NayPO4
7w ) T BT e &
S B) e
(C) A TR (D .

The structural and functional unit of kidney is called

(A)

(&)

mﬁgaaﬁaﬁmﬂmaw-ﬂ—mﬁmﬁ@:ﬁaﬁq?

(A)

(€)

Urinary bladder (B) Glomerulus

Bowman's capsule (D) Nephron

1500 fofl reien B) 150 fFfljua

15 femdt e

(D) 1-5 Tt yun

What should be the minimum speed of wind in a wind cle

generator ?
(A) 1500 km/h
(C) 15 km/h

(B) 150 km/h

(D) 1'5km/h

H/S-24(M)/ 72042177780,
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42. feh 99 T B ?
() AeSnfte (B) D.C.Hrex
(©) HEe R D) w3 o
A split ring is used in -
(A) galvanometer (B) D.C. motor
(C) microscope (D) none of these
43. mﬁ*wwﬂ%mﬁmwﬁnﬁmm%?
A TERE (B) W
(C) N | (D) T & B
Metallic conduction is based on motion of which particle in
material ?
(A)  Electron (B) Proton
(C) Neutron (D) .None of these
44. WRY-TFT UK FH F FA W A FT F T @@ | TH B
(&) 75 @ i Fo F gt @ Wi T @ R @ T
(B) fafdor g T A TR IF
) w3 i e # T A A
(D) 3 & FZ T
—_— Page 19 of 40

H /S-24(M}/72042-m‘m.




solar cooker has a glass cover n

reason for this is
(A) to sce whether the food kept inside the cooker is beiy

cooked or not

(B) to prevent loss of heat due to radiation

(C) to prevent the passage of dust into the box
(D) none of these

45. Weed v, ARG P, ¥ @ G, Seea v, WaRe P,  wfdus
aoft & J31 81 augew sfediy Bm

v: y? p2 p2
A) F-+= (B) L2

Pl F. 2 . Vl V2
© —itha o AR

(Vi +V,) v v?

A resistor of power P, at voltage of V, is connected in series wit
another resistor of power P, at voltage V,. The equivalen

resistance will be

v: v? 2 p2
A Bt B et
_ 1 2

P +P
(C) L2 (D A5
2 ] + —=

H/S-24(M)/?2042-{77f:0; | Page 20 oﬁ




(A S0 Hz

(B) 60 Hz
(C) 100 H2

(D) 220 Hz

(B) 60H:z
€ 100z (D) 220H
Z
(A) R (B) s
© 9 (D) et

Which of the following has the lowest refractive index ?

(A)  Turpentine (B) Benzene

(C) Water (D) Kerosine
48. T g1unY foq fra aagi A Rmwm @ 2

@ 3 B) 4

cx s (D) 6

A simple prism i8 bounded by how many surfaces ?

@ 3 B) 4
D) 6

€ S |
—~— IH 7 S-24(M) /72042411{;0) Page 21 of 40
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49. qﬁmﬁlwmg

7 A
B)
(A) va@d H ( p
)/ seasa | <
Kidney helps in
IB) rcpdeuctjon

(A) respiration

(C) excretion (D) digestion

50. NIV GO B

(A)  gIE-I 49‘/ e fet
{C]ﬁ f7-ta (D) @ T@H
Photosynthesis takes place during

(A) Morning-evening (B) Day only
(C) Day-night (D)  Night only

51. RfRs® iew v 3
A) T&mH (B) e o
(C) 3z # (D) A H
Synaptic knobs are found in

(AJ kidney (B) brajn

(C
) ovary (D)  neuron

f H/S-24(M)/ 72042—{77noji Page 22




52.

53.

o54.

[ 212

(B)  areHt

s D) 3=

Which of the followmg has the fastest heartbeat ?

(A)  Elephant (B) Human

(C) Rat (D) Whale
SRR T R a2 o

(A) A (B) *TH

(C) =& (D) F |/ T

Which of the following is cellular fuel ?
(A) Protein (B) Glucose

(C} Fat (D) None of these
ATP 8 ®i&he 6 g foa adi 2 2

A) TH | B) @

\Mﬂ (D) d=W

How many phosphates are there in ATP ?

A) 1 (B) 2

(C) 3 (D} 4

H/S-24(M)/72042-(71/80) : Page 27
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55. ﬁﬂ%f@'dﬁamﬂi“”‘“@ i 81 & 7
(A) HHS ®) 7
(c) 3=l @ =

an ?
is not an excretory organ of hum

Which of the following

) Lungs (B) Kidney
(C) Pancreas (D) Skin
56. @A WA et 9 R
(a) e (B) TEISS
(c)~ fifaas (D) ¥ [ g T
The smallest endocrine gland is
(A) Adrenal (B) Thyroid
(C) Pineal (D) None of these

57. @t 3 9 | T NGH FQ &

(A) H* 3194 (B) OH™ AT ¥4
(C) 3w (D) =g
All acids dissolve in water to give
(A H'i
) 1on (B) OH ion
(C) electron
(D)  neutron

—— e
| H/S-24(M)/ 72042-(77/30) Page 24
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praifea Afes)
3wy T 31 .
2o
(A) HCI
B
(D

© H,S0,
(D)  HNO,

{AJ/ ¥a |
_ (B) e

fen
“ ‘ (D) =

What is the colour of silver iodide ?-

(A) White ' B) Blue
(C) Yellow (D) Green
g9 H3R SiFHfas o 2
(A) =l B) ®M
w (D) &
The hardest natural substance is

B Gold
(A)  Silver (B)

(D) [ron

(C) Diamond | _
T 1175-24M)/ 720427122 age



—— A
o Elel & Frad @ER 2
(B)
(A) 1 ) 4
How many crystﬂ.lhnﬂ allOtl'Opcs
® 2
(A) 1
m 4
. (C) 3 .
2 Fﬁﬁgmmmmﬁt? |
| Z
(A) Mg By 0
(C) Pb (D) Au
Zinc blende is an ore of which metal ?
(A) Mg B) Zn
(C) Pb D) Au
63. AN F 7Y A Q vonvadt % o9 A ey € 2
w1 B) 2

o8 D) 4

How many bonds are there between two atoms in a 1

nitrogen ?

(A) 1 : (B]
2

€) 3 0
) 4

H/S.24
M
(M)/72042°7;



65-

66.

YPTE HN
T g g [212]
(A] nH2n+2
B
{C' nHZn-—Q | | CHHQ
D
The general formula of alley (D) nHan_
ne is
(A) CnHZm'z (B)
(C] cH CnHﬂn
n2n-2 D) CH
m h a; fcs".q n "2n-1
g d
(a) 25 furft (B) 25 a&h
() 25
Dy 3wa
The far point for the normal vision is
(A) 25 mm (B) 25cm

afe feeh farm =1 wfifem @ smEde woems 8, @ 38 sfefea @ sl
= gt ?
() arfae i (B) s ahe

st 3R I (D) AR AR I
age of an object, if magnification

(C)
What will be the naturc of the im

of the image is negative ?
(A) Real and erect (B) Virtual and erect

(D) Real and inverted

(C) Virtual and inverted

172042-(77/89) Page 27 of 4
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67.

68.

69.

[ 215

THIY & qUadd & fpad Pam & 2

(A) 1 {\E}" 2
c 3 (D) 4 |
How many laws are there for reflection of light ?

(A) 1 (B) 2

(€) 3 (D) 4

o S R 7w g T e et g 1 O Fw g
LIER )

(A)  135° B) 90°

(C) 45° Jp{/m

A ray of light is incident perpendicular to a plane mirror. The ange
of reflection will be

(Ay 135° (B) 90°

(C) 45 (D) o°

A H THF F BA-7 1 () it ool v 2 o

A) e ®

€ @ @/:nm

[H/S23M)/ 7200w | Page 28 of 4
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which colour of ;
ght SCa
t-ters

ore [212)
e

(A) Yellow
(C) Red ®) Orange
@ g
g # o e
(A) P F Iy H
B) g TS
D) 3 2 g
Converging lens in air is
A) Concave ] '
( €ns of glass (B)  Plano-concave lens of glass
(C) Convex lens of glass (D)  none of these

1 W TN 1 B e W g m, o st
e s9m S

(A) (B)

() (D)

If the lower half of a concave mirror gets broken then the image

(A)  will form erect (B) will be halved

(C) will be less intense (D) none of thpse

) mmﬁmw(ﬁmm)ﬁﬁ?(wm)ﬁmﬁ%,aaﬁ
Ig STl 8

w/arﬁm'aﬁ?i

© sl F TR

— —THjS-24(M)/ 720427123

wfirea it 3
wi @ w1 T

(B)

(D)
Page 29 of 40
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n a ray ' lass (,
Whe dium ) to B .
' rarer me
f light travels from air ( &
ray of g

denser medium ), it bends N .
(A) away from the normal (B) towards
e
(C) parallelto the normal (D) none o; tl';cs
73 siedfrs e w1 THH A preffaa 8 1A
(A) T (B) w7eh
@ o) fa

ic acid ?
Which one of the following is the natural source of oxalic aci

(A) Tomato (B) Tamarind

(C) Orange (D) Vinegar

74. YN &1 3% g3 C Hg 1 wem
(A) 7 EEdraE Ay ¢ (B) 8 WEEAIT® WY R
(€ owgEd®IWat (D) 10 WEEA® FwW }

Propane, with the molecular formula C,Hg has

(A) 7 covalent bonds (B) 8 covalent bonds

(C) 9 covalent bonds (D) 10 covalent bonds

[H/S-240m); 72042-(17/80) | Page 30 of 40




A T Ry
- -
"‘“lﬁrmqﬁ
A ST T T w2 et 2 -
B
(€ TR iRy, B)  ane
D) w3 g

(C) Ultraviolet
(D) All of these

HH-HI
2 QHIQW%mmmmﬁmm%?

(A) 9 o o

(C) HTHL o |
Which non_'mctal is found in liquid state at room temperaturc ?

(A) Mercury B  Bromine
(C) Sulphur 0 Sodium

(A) | Fe B) Cu
a metalloid ?

one of the following 18

Which
(B) Cu
(A) Fe
(D) As
(C) Ni —

- H/ g-24(M)/ 72042-(77/80)
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Eﬁaﬁﬁ,—q]??

g&T
CaCo,(s) - CaO(s)+ €Oz g ¥

78 -
ferter (8)
(A)
(D) fafae
(c) fawum= L
- what type of reaction s
CaCO,(s) = CaO(s}+ cO, (g) 1S |
(B) Combination
(A) Decomposition
D) Double displacement
(C) Displacement {
70 frerifiss A F g @gfed & 2
(A) Mg+0O, —» MgO (B) Zn+ H,S0, = ZnSO, +H,
2
\[-C)/. Fe+Cl, = FeCl, (D) H, + Cl, —» HCI
Which of the following equations is balanced ?
(A)  Mg+0, > MgO (8) Zn+H,SO, - ZnSO, +H,
(€} Fe+Cly - FeCly (D) H,+Cl, » HCI

A I (B) HWeH SHATHETSS

(€ M (D) e[ SEHNTFqTES
Which of the following causes acid rain in industrial areas ?
(A)  Chlorofluorocarbon (B)  Sulphur dioxid
ide
(C)  Ozone
(D)  Carbon dioxide

[H/S-24 _ B
5:24(M)/ 72042-;17;351 Page 32 of 4
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"BECTIOLB [212)

gach guesrion carries 2 marks. 4x2=8
x t |
L o == *1 Tmifea R 9130 | : 2
Draw a labelled diagram of electric bulb.

). g fdusnmio | )

What is persistence of vision ?
Ty 3 Rt Bew $ Al sads wagl W rEm-fe $ svEda & fo

2

faror am@ did |

Draw a ray diagram (o show refraction of ray of light at both the

ces of a prism placed In air. -

> wEE Sl W (g 2

refractive surfa

g & @waT @ AT H; g
What do you mean by power of lens ? Write its SI unit.
a

Page 33 of 40
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5 o gEed #n e ? o T R @ ETE | 2
What is a simple microscope ? Draw its ray diagram.
y e ¥ Srvada w1 e e ? 5
What is the law of refraction of light ?
7. ‘AU’ A W9 R A & ? )
What do you understand by 'short-circuit' ?

8 el an &1 IROY IHF TN HE & HA6c § hd e @A @ 2 2

How is the resistance of a wire affected by its area of

cross-section ?

€t JIT U¥T / Long Answer Type Questions

yT §EqT 9 Hi ma?a‘am?zrm#:gaﬁ#ﬁm?wwm%mﬁa;m

F oy 6 o freffRar &1 1x6=6

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks. Ix6=6

EAct e T B wikw A TR ¥ smww e e § g
w6 R=2f

9.

6

Define focus of a concave spherical mirror. Prove that in a concave

mirror R=2f

oo e
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fach question carries 2 marks.
g ﬁnﬁﬁ:maﬁ%%qéﬁ%ammﬁm%ﬁq:
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(b) m+aﬁﬁmm+m

Write the balanced chemical equations for the following reactions :
(a)  Zinc + Silver nitrate — Zinc nitrate + Silver

(b)  Sodium + Water - Sodium hydroxide + Hydrogen.

>/ 3 v g ¥ Hen Hawds € 2 2

&

What are the essential steps for forest conservation ?
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14.

15.

16.

17.
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Why does carbon mainly form covalent compounds ?

& qﬁﬁﬁimalﬁﬁmﬁﬁwm%? =7 afufwraan & aftam
2

ferfgu |

What is the difference between displacement and double

displacement reactions ? Write equations for these reactions.

FaN F@ B 7g FQ ¥ forg Rrg wifeam M w1 3w e s &, 3w
T fad 2

Name the sodium compound which is used for softening hard
water.

Leicicau i I S

What is Anodising ?

@il 9 @@ It & fi9 @ i & ford

Write two differences between minerals and ores.

A

18,/ Hifeaw HriAe #1 wehta faem grda g 1 4 o 2

g

The aqueous solution of sodium carbonate is alkaline. Why ?
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ction Nos. 19 and 2
3£ 0 are Long Answer Type. Answer any one of them

thuestion carres 5 marks.
1 x5=5
w8 fiyde :
; LIS I RS N —
sfirfspan =t fod) 5

write down the laboratory method of preparation of methane and

its chemical reaction with chlorine.
‘?/aﬁﬁmma:asﬁa’imw'mmm%? 5
What is the effect of deforestation on wildlife ?

wta faam / Biology

g 398G WA / Short Answer Type Questions

I §ET 21#23ﬁwméfﬁ#ﬁ4mﬁ$mé1mm

t fre 2 s Fretfa &1

s. 21 to 28 are Short A

4x2=8

nswer Typée. Answer any 4 questions.
4x2=8

2 marks.
2

Question No
Each guestion carries

)/ geiE & w9 & HE el
of reproduction in livin

i €
Write the jmportanc
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Explore the difference between blood and lymph.
23, a@vEEI IR ?
What is external respiration ?

@/wﬂzﬂmaﬁma? 2

Why do we sweat in summer ?

25. YIY AYSNV 791 2 P ¥Eh vanfe sfufe & e ford) 2

What is photosynthesis ? Write the equation of its chemical

reaction.

26. SAq-amEadT wm g ? | 2

What is bio-magnification ?

27. W W 1Ay h @w d 7 fen R 2 2

What is the role of stomata and lenticels in respiration ?

28. ORI &1 & ? )

What is ascent of sap ?
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Draw a labelled diagram of human digestive system and explain

the digestive process of food.

9. BN YE@eT F1 ¢ ? T T WY G A |

What is a food chain ? Explain it with an example.
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